3UDFRZQLN 5RINiDG  GU - DSXAQLDN _DPLD 7\J

/DVIRB

o
™
=
n
7\
2FHQD VHQVRU\F]QD GU . DSXGQIDN .DPUD $%
% =" 0 :
7\
2FHQD VHQVRU\F]QD GU . DSXGQIDN -DPUD $%
$% =£"0 :-D
7\G] 7\C]
2FHQD VHQVRU\F]QD Gl 2FHQD VHQVRU\F]QD Gl
-DSXGQIDN . DPLD $% -DSXGQIDN . DPLD $%
% =&" % =&"
o :-DU o :-DU
[a)
o 7N
g T\ZQRGi Z\JRGQD L IXQNFIRQDIQD GU
T . DSXGQIDN .DPUD $%
.20387(52:=% */ /
7\G] 7\G]
2FHQD 2FHQD
VHQVRU\F]Q| |VHQVRU\F]Q
DGl DGl
_DSXGQIDN | | . DSXGQLDN
_DPUD $%| |.DPUD $%
% %
=&" 0 =£" 0
DU DU
7\G]
&KHPLD T\ZQRGFL GU . DSXGQIDN .DPLD $ $% $%
=/ 7/
7\G]
- &KHPLD T\ZQRGFL GU . DSXGQIDN .DPUD $ $% %
T =/ [/
=
)
ﬁ 7N 7N\
— T\ZQRGi Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGi Z\JRGQD L IXQNFIRQDIQD GU
18 . DSXGQIDN .DPUD $% . DSXGQIDN .DPUD $%
.20387(52:=% */ / .20387(52:=% */ /
7\ 7\
T\ZQRGi Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGi Z\JRGQD L IXQNFIRQDIQD GU
-DSXGQIDN . DPLD $% -/ _DSXGQIDN -DPUD $% -/
- 7N 7N
™ &KHPLD T\ZQRGFL GU . DSXGQIDN .DPLD $ $% -/ &KHPLD T\ZQRGFL GU . DSXGQIDN .DPLD $ $% =/
/ /




/DIRB
3UDFRZQLN 5RINiDG  GU - DSXAQLDN _DPLD 7\J

N N
= . . - . .
) &KHPID T\ZQRGFL GU .DSXGQIDN .DPUD $ $% -/ &KHPLD T\ZQRGFL GU .DSXGQIDN .DPUD $ $% =/
/ /
7\G] \G]
&KHPLD T\ZQRGFL GU . DSXGQIDN .DPUD $% $% &KHPLD T\ZQRGFL GU . DSXGQIDN .DPLD $ -
5 / 5 /
a 7\G] 7\G] 7\G]
z T\ZQRGil Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGil Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGil Z\JRGQD L IXQNFIRQDIQD GU
| .DSXGQIDN .DPUD $ .DSXGQIDN .DPUD $% "5 .DSXGQIDN .DPUD $
°>f .20387(52:%$ "5 [/ . .20387(52:%$ "5 [/
7\G]
T\ZQRG Z\JRGQD L IXQNFIRQDIQD GU
.DSXGQIDN .DPUD $% "5
7\G] 7\G] 7\C]
T\ZQRGil Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGil Z\JRGQD L IXQNFIRQDIQD GU T\ZQRGU Z\JRGQD L
.DSXGQIDN .DPUD $ .DSXGQIDN .DPUD $ IXQNFIRQDIQD GU
.20387(52:%$ "5 [/ .20387(52:%$ "5 [/ .DSXGQIDN .DPUD $%
"5 .
7\G] 7\¢]
. T\ZQRG&i Z\JRGQD L T\ZQRG&i Z\JRGQD L —— )
1 - IXQNFIRQDIQD GU IXQNFIRQDIQD GU &KHPID T\ZQRGFL GU .DSXGQIDN .DPUD $ -
a T\ZQRGU .DSXGQIDN .DPUD $ .DSXGQIDN .DPUD $ 5 /
= Z\JRGQD L .20387(52:% -~ .20387(52:% "
= IXQNFIRQDIQ 5 / 5 /
[O) DGl
T . DSXGQIDN 7\G] 7\G] 7\G] 7\G]
S -DPUD $% &KHPID T\ZQRGFL G &KHPID T\ZQRGI ||| T\ZQRG
-5 .DSXGQIDN .DPUD $ T\ZQRGFL G Z\JRGQD L ||[Z\JRGQD L
- 5 / v IXQNFIRQDIQ| | | IXQNFIRQDIQ
. DSXGQIDN DGl DGl
.DPUD $ _DSXGQIDN ||| .DSXGQIDN
- _.DPUD $ |||-DPUD $
5 /
.20387(|||.20387(
52:% 52:-3%
5 /|||*5 7




